Example where SAIL code is setting value of Array Z using value from boolean which is set by expression:

Boolean is set as such:

local!isStateOrFederalOriginationFailing:toboolean(if(rule!APN_isEmpty(local!accountOutput),not(local!stateDoODetails.IsStateDoOPassing),if(rule!APN_isEmpty(local!stateDoODetails),tointeger(local!accountOutput.IsOriginationDatePassing)=0,or(tointeger(local!accountOutput.IsOriginationDatePassing)=0,not(local!stateDoODetails.IsStateDoOPassing))))),

local!isStateOrFederalOriginationFailingBoolean:if(local!isStateOrFederalOriginationFailing,true(),false()),
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rilVW_RuleOutput_AccountBenefit_new
[Accountid=3202, AccountBenefitld=, Ruleld=2901, RuleOutputid=3446, OrderDetailld=2801, BenefitStartDate=, . Fees=, Rate=, Protectio
IsRulePassing=1, IsDisputed=0, lsReviewed=0, Active=, CreatedDt=, UpdatedDt=]; [Accountid=3202, AccountBenfitld=, Ruleld=10001, RuleOutputid=3448,
OrderDetailld=2801, BenefitStartDate=, BenefitEndDate=, Fees=, Rate=, Protection=, lsRulePassing="1, IsDisputed=0, IsReviewed=0, Active=, CreatedDt=,
UpdatedDt=]; [Accountld=3202, AccountBenefitld=10555, Ruleld=10023, RuleOutputid=3451, OrderDetailld=2801, BenefitStartDate=211/2014,
BenefitEndDate=4/10/2016, Fees=, Rate=4, Protection=, IsRulePassing=1, IsDisputed=, IsReviewed=, Active=, CreatedDt=, UpdatedDt=]; [Accounti
AccountBenefitld=, Ruleld=1, RuleOutputld=3447, OrderDetailld=2802, BenefitStartDate=, BeneftEndDate=, Fees=, Rate=, Protection=, IsRulePassing
IsDisputed=0, IsReviewed=0, Active=, CreatedDt=, UpdatedDt=]; [Accountld=3202, AccountBenefitld=, Ruleld=10003, RuleOutputld=3452, OrderDetailld=2802,
BenefitStartDate=, BenefitEndDate=, Fees=, Rate=, Protection: . IsDisputed=, IsReviewed=, Active=, CreatedDt=, UpdatedDt=]

locallruleOutput
[Accoumld:32ﬂZ,Accuuniﬁeneﬁlld:, Ruleld:zsunRulem'pm\dzma, OrderDetailld=2801, BenefitStartDate=, BenefitEndDate=, Fees=, Rate=. Protectior

[Accountid=3202, AccountBenefild=, Ruleld=10001, RuleOutputid=344,
sRuIePassmg 1, IsDisputed=0, IsReviewed=0, Active=, CreatedD!

StateOrFederalOriginationF:

Prolecton-. IsRusPassing-1, IDisput . CreatedDi=, UpdatedD=] [Accountl
3 447, OrderDetailld=2802. BenefitStartDate=, BenefitEndDate=, Fees=, Rate=, Protection=, IsRulePassing
IsDisputed=0, IsReviewed=0, Active=, CreatedDt=, UpdatedDt=]; [Accountld=3202, AccountBenefitid=, Ruleld=10003, RuleOutputld=3452, OrderDetailld=2802
BeneftStartDate=, BenefitEndDate=, Fees=, Rate=, Protection=, IsRulePassing=0, IsDisputed=, IsReviewed=, Active=, CreatedDt=, UpdatedDt=]

wherecontains
2

ruleOutputModified
[Accountid=3202, AccountBenefitid=, Ruleld=2901, RuleOutputld=3446, OrderDetailld=2801, BenefitStartDate=, BenefitEndDate=, Fees=, Rate=, Protection=,
. IsDisputed=0, IsReviewed=0, Active=, CreatedDt=, UpdatedDt=]; [Accountid=3202, AccountBeneftld=10555, Ruleld=10023,

1012016, Fees=, Rate=4, Protection=, IsRulePassing="1, IsDisput
X 447, OrderDetailld=2802, BenefitStartDate=,
) IsReviewed=0, Active=, CreatedDt=, UpdatedDt=]: [Accountid=3202,

452, OrderDetailld=2802, BeneftStartDate=, BenefitEndDate=, Fees=, Rate=, Protection=, IsRulePassing=0,
. UpdatedDt=]

IsDisputed=, IsReviewe

ruleOutputModifiedFinal

[Accountid=3202, AccountBenefitld=, Ruleld=2901, RuleOutputld=3446, OrderDetailld=2801, BenefitStartDate=, BenefitEndDate=, Fees=, Rate=, Protection=,
IsRulePassing=1, IsDisputed=0, lsReviewed=0, Active=, CreatedDt=, UpdatedDt=]
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Example where SAIL code is setting value of Array Z using value from boolean which is set directly as true

Boolean is set as such:

local!isStateOrFederalOriginationFailingBoolean:true,
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rilVW_RuleOutput_AccountBenefit_new
[Accountid=3202, AccountBenefitld=, Ruleld=2901, RuleOutputld=3446, OrderDetailld=2801, BenefitStartDate=, BenefitEndDate=, Fees=, Rate=, Protection=,
IsRulePassing=". IsDispuled=0, sReviewed=0, Acive= CrealedDr UpdatedDt=]; [Accountid=3202, AccountBenefitld=, Ruleld=10001, RuleOutputid=344,
. IsDisputed=0, IsReviewed=0, Acti
UpdatedDI=]; [Accountid=3202, AccountBenefitid=10555, Ruleld uuza‘ RuleOutputld=3451, OrderDetailld=2801, BenefitStartDate=21/2014,
BenefitEndDate=4/10/2016, Fees=, Rate=4, Protection=, IsRulePassing=1, IsDisputed: . CreatedDt=, UpdatedDt=]; [Accounti
. RuleOutputld=3447, OrderDetailld=;
IsDisputed=0, IsReviewed=0, Active=, CreatedDt=, UpdatedDt=]
BenefitStartDate=, BenefitEndDat

locallruleOutput
[Accountid=3202, AccountBenefitid=, Ruleld=2901, RuleOutputld=3446, OrderDetailld=2801, BenefitStartDate=, BenefitEndDate=, Fees=, Rate=, Protection=,
IsRulePassing-1,lDispuled-0,IsRevewed=, Acie=, CreatedDt-, UpdatedDt— [Accounid-3202,AccouriBencild= Rulld=10001, RuleOupuld-=3445,
OrderDetailld=2801, BeneftStartDate=, BenefitEndDate=, Fees:
UpdatedDt=]; [Accountid=3202, AccountBenefitld=10555, Ruleld uuza‘ RuleOutput
BenefitEndDate=4/10/2016, Fees=, Rate=2, Protection=, IsRulePassing=1, IsDisputed: . 3 3 ;
AccountBenefitid=, Ruleld=1, RuleOutputid=3447, OrderDetailld=2802, BenefitStartDate=, BenefitEndDate=, Fees=. Rate=, Protection=, IsRulePassing=0,
IsDisputed=0, IsReviewed=0, Active=, CreatedDt=, UpdatedDt=]; [Accountld=3202, AccountBenefitid=, Ruleld=10003, RuleOutputld=3452, OrderDetailld=2802
BeneftStartDate=, BenefitEndDat IsDisputed=, IsReviewed=, Active=, CreatedDt=, UpdatedDt=]

" IsDisputed=, IsReviewed=, Active=, CreatedDt=, UpdatedDt=]

ruleOutputModified
[Accountid=3202, AccountBenefitid=, Ruleld=2901, RuleOutputld=3446, OrderDetailld=2801, BenefitStartDate=, BenefitEndDate=, Fees=, Rate=, Protection=,
. IsDisputed=0, lsReviewed=0, Active=, CreatedDi=, UpdatedDt=]; [Accountid=3202, AccountBenefilld=10555, Ruleld=10023,
RuleOulputld=3451, OrderDetailld=2801, BenefitStartDate=2/1/2014, BeneftEndDate=4/1012016, Fees=, Rate=4, Protection=, IsRulePassing=1, IsDispute
IsReviewed=, Active=, CreatedDt=, UpdatedDt=]: [Accountld=3202, AccountBenefitld=, Ruleld=1, RuleOutputid=3447, OrderDetailld=2802, BenefitStartDate=,
BeneftEndDate=, Fees=, Rate=, Prolection=, IsRulePassing=0, IsDisputed=0, IsReviewed=0, Aciive=, CreatedDt=, UpdatedDi=], [Accounil
AccountBenefitid=, Ruleld=10003, RuleOutputld=3452, OrderDetailld=2302, BenefitStartDate=, BenefitEndDat
IsDisputed=, IsReviewed=, Active=, CreatedDt=, UpdatedDt=]

ruleOutputModifiedFinal

[Accountid=3202, AccountBenefitld=, Ruleld=2901, RuleOutputid=3446, OrderDetailld=2801, BenefitStartDate=, BenefitEndDate-
IsRulePassin \sD\spuhed 0, IsReviewed=0. Activ realedDr UpdatedDt=]; [Accountid=3202, AccountBenefitld=, Ruleld=10001, RuleOutputid=344,
. IsDisputed=0, IsReviewed=0, Acti

[Accountld=3202, AccountBenefitld=, Ruleld=10003, RuleOutputld=3452, OrderDetaild=2802,
. IsRulePassing=0, IsDisputed=, IsReviewed=, Active=, CreatedDt=, UpdatedDt=]

IsDisputed=0, IsReviewed=0, Active
BenefitStartDate=, BenefitEndDat
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